20145 HERKETE BHIBFTHEKRE |
(#TIR]
B#E:58258(H)
BF (SHY35R) (547) KABM:  10:00%T
Ikt 17V o m o o
=4 (o—1) F271-v E37L-v B4V
&F WY |Eryn EE B8 AL | AN KH NE 45z
(TOUR-
1| Mo £F B |aar BT RE 6-2 5-7 6-0 2
2 |00 Bra R | M0 EE BE 2-6 4-6 6-2 3
3 | o0 BF E (sLto) ML 1EAER 7-5 6-4 6-4 1
4| AR BIE | (e AE EE 0-6 2-6 4-6 4
BF (AU3R) (11 A7) RAKME: 8: 45%T
FiE)-y 3
1-1|7977) Bk BE F9747) INIK HE—
7-6 (9-7)
A11
3-2| 0V-0 FiF Bt - BN
2-1| o0 KW F |00 BHORME ax 674 gEp. IR
6-0
A12
1-2|G70-» Tk 158 779 8% IE—
) 6-1
A¥1
3-1|@n-) F%H  # awn-n HKR HET
6-1
A13
2-2 ((h-aMe) fE 5 R (-aMe) {RiE 12
ht F17V—%- o m S S
=4 %(9—|~') E27L—v— | B3IV | FaTL-¥
B BF | B K| IE BEH | £ G B
Al| @t 10 B (o) #/F Fth 4-6 5-6 6-1 3
75747) B K BE (79747 INFE BE— 6-4 6-1 6-2 1
779 Tk 1BER 779 8% IE— 6-5 1-6 6-2 2
@n-n %k B aw-n )IlE %% 1-6 2-6 2-6 4
B  f##% | KL &BH | 8 Al _ EfZ
A 2|(p-aMe) EH R (p-aMe) Rk #E 1-6 6-2 - 2
oo Kl E 777 BH B 6-1 6-1 - 1
(SLTC) BB EX (sL1o) ALl BA 2-6 1-6 - 3

BE Ik | =B RN | B REE FE BN | IER

A3|@n-n 2% Q=) AR FEAT 6-4 6-1 6-2 1
o) B BT (-0 4-6 6-0 6-1 2
(o) fngE —BR o) FEE & 1-6 0-6 6-5 3
W-aMe) FH EE (p-aMe) Bp it H A 2-6 1-6 5-6 4




SUTR(BFE)  b—F AV 1YY F(6—6:12R1U AT —9)

ABANTIVISR

FB)—TVRB)—T -1y F (JUTR 65— LKR)

CREER—FAVR— 1R YRRV TF (VU TR, 6—6:12RAUMLTL—Y)

BF (RT3V) (11A7) RABM: 8:45%T
Ry 3
1-1 |F70-9) 1R BB |G70-9 [E E=
7-5
V11
3-2 |77e-H) NIl BR O |T7-PD MK BRX
i = o 04
2-1 |W-8Me) HAR IEXR |W-8Me) FH #IEA vik T g -hH
6-2
V12
1-2 |gvi-2) KIU EXR  |s-20 By &
VHET 63
3-1 |79747) Hgch #87  |797) hFt 18k
6-2
V13
2-2 |770-9) K& W -0 #AR &
It BE17V—- o ot ot
)= o F B27L—% E371L-v FA7L-Y
R B | FEE FER | BN RE | 3B EH JE£L
V1|2 Kl &EX (s By & 5-6 6-1 6-2 2
F7o-9) {FiE B |G7o-P WE B 6-5 6-1 6-3 1
(sLTO) EH BB— | (SLTO) R & 1-6 1-6 6-4 3
T747) B8 BB |G70) BEH BE 2-6 3-6 4-6 4
EAX  FH | KE #K | EA XE [t
V 2 (-aMe) EAR IEXR |(P-aMe) FH HIEA 6-5 6-0 1
77-H KE W (VRS NI 5-6 6-2 2
(SLTC) ;EH % | (SLTO) KIFE 0-6 2-6 3

V3

NI # | B A | R OMR | M KI5 [:3i3
Fre-H NI BER (07D MK EBR 1-6 3-6 6-2 2
Fo77) SR #RTF |77 R (B 6-1 6-0 6-2 1
(sLTC) FiE FX |0 MK EH 6-3 0-6 2-6 4
FENY) IR FR |GV KB ES 2-6 2-6 6-3 3




ZF (SU3R)

(2 A7)

$SEERM: 13:00FT
3SHEBFENE1TL—Y

)=y 1=HER 2 &8 3HEH JE AL
S |00 BN ERF w0 FH BF 6 6 1
77e-n Wl AEF |070-H KiE RF 4 0 2
ZF (AYSR) (10 A7) SAEBM:  10:003
Fi)-y 3
1-1 |00 EB FEF |0 BEE BT
At =00
3-2 |2y N BEF (- BH OBRF
2-1 |02 42 DYF om0 ML EE P e 1 27 1.1
A2 00
1-2 | (MAC) AT O (MAC) DAk
. 6-3
3-1 |00 AT BRER | Cen, (R HTF
Atg p—=2
2-2 |75747) BEA F=DVF (79747) BEO R AR
gy ROV | mori-v- | meriv- | marL-t-
2 BE | WE AEB| A0 ME | ME hE | IEG
Al|0-0 EB FETF |00 88 BT 6-0 6-4 6-2 1
-eme) HEIE X |W-aMe) REAFR EH 0-6 1-6 6-5 3
(MAC) A O (MAC) N A% 4-6 6-1 6-3 2
Fr7) P ET BF |70 A EE 2-6 5-6 3-6 4
BB KIS | WA R | MO0 MO 003
A2 |00 g st |oFh) KB EETF 0-6 3-6 3
@y fAE YF |- Il EE 6-0 6-3 1
@) RO fAF |97 B0 R AR 6-3 3-6 2
Y B | B BK | MR B 03
A3 |00 M BRER |, (R BT 6-4 6-4 1
@9747) Jgrp ThELF (7970 SR ETF 4-6 2-6 3
W) NG BETF o0 B BT 4-6 6-2 2




